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C-232410-A

efJe<eÙe : ke=âef<e efJe%eeve kesâ lelJe SJeb ieefCele
Subject : Elements of Science and

Mathematics for Agriculture
meceÙe : 3 Iebšs] [hetCeeËkeâ : 75
Time : 3 Hours] [Maximum Marks : 75

veesš : (i) meYeer ØeMveeW keâes nue keâerefpeS~

Note : Attempt all questions.

(ii) ØeMve ›eâceebkeâ 8 mes 17 lekeâ kesâ ØeMveeW ceW Deebleefjkeâ efJekeâuhe efoS ieS nQ~

Internal options are given in Question Nos. 8 to 17.

efveoxMe :

(De) ØeMve ›eâceebkeâ 1 Jemlegefve‰ ØeMve nQ~ FmeceW leerve KeC[ nQ~ KeC[ (De) ceW yengefJekeâuheerÙe ØeMve, KeC[

(ye) ceW efjòeâ mLeeveeW keâer hetefle& Jeeues ØeMve leLee KeC[ (me) ceW mener peesÌ[er yeveeves Jeeues ØeMve nQ~ ØelÙeskeâ

KeC[ ceW 5 ØeMve nQ leLee ØelÙeskeâ ØeMve hej 1 Debkeâ DeeJebefšle nw~

Instruction :

(A) Question No. 1 is an objective type question. It has three sections. In Section

(A) Multiple choice questions, in Section (B) Fill in the blanks and in Section (C)

Match the following are given. Each section has 5 questions. Each question

carries 1 mark.
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(KeC[-De)

(yengefJekeâuheerÙe ØeMve)

Section-A

(Multiple Choice Questions)

ØeMve—1. mener efJekeâuhe Ûegvekeâj efueefKeS : 1×5=5

Choose and write the correct option :

(i) ceeMe& iewme keâe met$e nw :

(De) C2H6

(ye) C2H4

(me) CH4

(o) C2H2

Formula of Marsh gas is :

(a) C2H6

(b) C2H4

(c) CH4

(d) C2H2

(2)
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(ii) cesefLeue Ssukeâesne@ue keâe IUPAC veece nw :

(De) cesLesvee@ue

(ye) SLesvee@ue

(me) cesLesveue

(o) SLesveue

The IUPAC name of Methyl Alcohol is :

(a) Methanol

(b) Ethanol

(c) Methanal

(d) Ethanal

(iii) Dee@keämeer MJemeve ceW iuetkeâespe kesâ Skeâ DeCeg ceW ATP keâe efvecee&Ce neslee nw :

(De) 2

(ye) 3

(me) 38

(o) 36

(3)
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ATP produced by aerobic respiration from one molecule of glucose is :

(a) 2

(b) 3

(c) 38

(d) 36

(iv) keâesefMekeâe efJeYeepeve keâer oj keâes lespe keâjlee nw :

(De) Dee@efkeämeve

(ye) meeFšeskeâeFefvevme

(me) efpeyejsefueve

(o) FveceW mes keâesF& veneR

The rate of cell division is increased by :

(a) Auxin

(b) Cytokinins

(c) Gibberellins

(d) None of these



(5)
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(v) heewOes mes efvekeâesefšve Øeehle keâer peeleer nw :

(De) meesuesvesmeer kegâue

(ye) ceeueJesmeer kegâue

(me) ›etâmeerHesâjer kegâue

(o) uesiÙetefceveesmeer kegâue

Nicotine is obtained from the plant :

(a) Solanaceae family

(b) Malvaceae family

(c) Cruciferae family

(d) Leguminoceae family

(KeC[-ye)

(efjòeâ mLeeveeW keâer hetefle&)

Section-B

(Fill in the blanks)

ØeMve—1. efjòeâ mLeeveeW keâer hetefle& keâerefpeS : 1×5=5

Fill in the blanks :
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(i) heg<he kesâ hegbkesâmejeW keâes nševes keâer ef›eâÙee keâes .............. keânles nQ~

Removal of Androecium from flower is called _______.

(ii) šesšerheesšsvmeer keâe mebyebOe .............. mes nw~

Totipotency is related to _______.

(iii) ØekeâeMe mebMues<eCe keâe Deefvlece Glheeo keâeyeÇexneF[^sš Deewj .............. nw~

The final product of photosynthesis is carbohydrate and ______.

(iv) DeeLeexhšsje ieCe keâe Iej kesâ efueS neefvekeâejkeâ keâerš .............. nw~

Harmful insect in domestic areas belongs to order orthoptera is ______.

(v) ueieYeie 25,000 keâesketâveeW mes 454 «eece .............. Øeehle neslee nw~

454 gm _______ is produced from approximately 25,000 cocoons.

(KeC[-me)

(mener peesÌ[er yeveeFS)

Section-C

(Match the following)

ØeMve—1. mener peesÌ[er yeveeFS : 1×5=5

mlebYe ‘keâ’ mlebYe ‘Ke’

(i) efJešeefceve A (De) kewâefumeHesâje@ue

(ii) efJešeefceve C (ye) uesiÙetefceveesmeer kegâue

(iii) efJešeefceve D (me) meesuesvesmeer kegâue

(iv) meesÙeeyeerve (o) ieepej

(v) Oeletje (Ùe) mkeâJeea jesie
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Match the following :

Column ‘A’ Column ‘B’

(i) Vitamin A (a) Calciferol

(ii) Vitamin C (b) Leguminoceae family

(iii) Vitamin D (c) Solanaceae family

(iv) Soyabean (d) Carrot

(v) Dhatura (e) Scurvy disease

efveoxMe :

(ye) ØeMve ›eâceebkeâ 2 mes 7 lekeâ Deefle ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 2 Debkeâ DeeJebefšle nQ~ Gòej

keâer DeefOekeâlece Meyo-meercee 30 Meyo nw~

Instruction :

(B) Question Nos. 2 to 7 are very short answer type questions. Each question

carries 2 marks. Maximum word-limit of answer is 30 words.

(Deefle ueIeg GòejerÙe ØeMve)

(Very Short Answer Type Questions)

ØeMve—2. Devegceeheve keäÙee nw ? 2

What is Titration ?
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ØeMve—3. efkeâCJeve efkeâmes keânles nQ ? 2

What is Fermentation ?

ØeMve—4. Skeâ Jeie& keâer ØelÙeskeâ Yegpee keâer uecyeeF& 5 mesceer. nw, Gmekeâe #es$eHeâue %eele keâerefpeS~ 2

Each arm of a square is 5 cm. Calculate the area of it.

ØeMve—5. efJeefYevvelee efkeâmes keânles nQ ? 2

What is Variation ?

ØeMve—6. peerveesšeFhe keäÙee nw ? 2

What is Genotype ?

ØeMve—7. ueeKe keäÙee nw ? 2

What is Lac ?

efveoxMe :

(me) ØeMve ›eâceebkeâ 8 mes 12 lekeâ ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 4 Debkeâ DeeJebefšle nQ~ Gòej keâer

DeefOekeâlece Meyo-meercee 75 Meyo nw~

Instruction :

(C) Question Nos. 8 to 12 are short answer type questions. Each question carries

4 marks. Maximum word-limit of answer is 75 words.
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(ueIeg GòejerÙe ØeMve)

(Short Answer Type Questions)

ØeMve—8. efvecveefueefKele meejCeer mes meceevlej ceeOÙe keâer ieCevee keâerefpeS : 4

Class 0 20 20 40 40 60 60 80 80 100

Frequency 2 7 10 3 3

    

Calculate the arithmetic mean from the following table :

Class 0 20 20 40 40 60 60 80 80 100

Frequency 2 7 10 3 3

    

DeLeJee / OR

efvecveefueefKele leeefuekeâe mes ceeefOÙekeâe keâer ieCevee keâerefpeS :

Class 5 10 10 15 15 20 20 25 25 30

Frequency 5 6 15 10 5

    

Calculate the median from the following table :

Class 5 10 10 15 15 20 20 25 25 30

Frequency 5 6 15 10 5

    

ØeMve—9. cesC[ue ves Deheves efJeefYevve ØeÙeesieeW kesâ efueS cešj keâes ØeÙeesieelcekeâ heoeLe& kesâ ™he ceW keäÙeeW Ûegvee Lee ?

(keâesF& Ûeej keâejCe) 4

Why Mendel had selected pea as experimental material for his different

experiments ? (Any four reasons)

DeLeJee / OR

heeohe Øepeveve kesâ keâesF& Ûeej cenlJe efueefKeS~

Write any four importance of Plant Breeding.

Jeie&

DeeJe=efòe

Jeie&

yeejcyeejlee
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ØeMve—10. ceeueJesmeer kegâue keâer henÛeeve kesâ keâesF& Ûeej efJeMes<e ue#eCe efueefKeS SJeb heg<he DeejsKe yeveeFS~ 2+2=4

Write any four specific identity characteristics of Malvaceae family and draw a

floral diagram.

DeLeJee / OR

›etâmeerHesâjer kegâue keâer henÛeeve kesâ keâesF& Ûeej efJeMes<e ue#eCe efueefKeS SJeb heg<he DeejsKe yeveeFS~

Write any four specific identity characteristics of Cruciferae family and draw a

floral diagram.

ØeMve—11. JeemleefJekeâ leLee DeeYeemeer mheskeäš^ce ceW keâesF& Ûeej Devlej efueefKeS~ 4

Write any four differences between Real and Virtual Spectrum.

DeLeJee / OR

hesš^esue Deewj [erpeue Fvpeve ceW keâesF& Ûeej Devlej efueefKeS~

Write any four differences between Petrol and Diesel Engine.

ØeMve—12. Skeâ Je=òe keâe JÙeeme 28 ceeršj nw~ Je=òe keâer heefjefOe SJeb #es$eHeâue %eele keâerefpeS~ 4

Diameter of a circle is 28 meter. Calculate the circumference and area of this

circle.
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DeLeJee / OR

Skeâ ef$eYegpeekeâej Kesle keâer YegpeeSB 26 ceeršj, 28 ceeršj Deewj 30 ceeršj nw~ Gmekeâe #es$eHeâue %eele keâerefpeS~

A triangular field area has arms as 26 meters, 28 meters and 30 meters.

Calculate the area of it.

efveoxMe :

(o) ØeMve ›eâceebkeâ 13 SJeb 14 ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 5 Debkeâ DeeJebefšle nQ~ Gòej keâer

DeefOekeâlece Meyo-meercee 150 Meyo nw~

Instruction :

(D) Question Nos. 13 and 14 are short answer type questions. Each question carries

5 marks. Maximum word-limit of answer is 150 words.

(ueIeg GòejerÙe ØeMve)

(Short Answer Type Questions)

ØeMve—13. IejeW ceW GheÙeesie nesves Jeeues keâesF& heeBÛe efJeÅegle GhekeâjCeeW keâes meb#eshe ceW efueefKeS~ 5

Write in brief any five electricity apparatus usually used in houses.

DeLeJee / OR

ØekeâeMe-efJeÅegle mesue kesâ keâesF& heeBÛe GheÙeesie efueefKeS~

Write any five uses of photo-electric cell.
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ØeMve—14. efvecveefueefKele meejCeer mes yenguekeâ %eele keâerefpeS : 5

Class 0 15 15 30 30 45 45 60 60 75

Frequency 2 3 5 10 7

    

Find the Mode from the following table :

Class 0 15 15 30 30 45 45 60 60 75

Frequency 2 3 5 10 7

    

DeLeJee / OR

efvecveefueefKele meejCeer ceW ceeefOÙekeâe mes ceeOÙe efJeÛeueve %eele keâerefpeS :

Class 0 10 10 20 20 30 30 40 40 50

Frequency 5 8 15 16 6

    

Calculate the Mean Deviation from Median with the following table :

Class 0 10 10 20 20 30 30 40 40 50

Frequency 5 8 15 16 6

    

efveoxMe :

(F) ØeMve ›eâceebkeâ 15 mes 17 lekeâ oerIe& GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 6 Debkeâ DeeJebefšle nQ~ Gòej

keâer DeefOekeâlece Meyo-meercee 250 Meyo nw~

Instruction :

(E) Question Nos. 15 to 17 are long answer type questions. Each question carries

6 marks. Maximum word-limit of answer is 250 words.

Jeie&

DeeJe=efòe

Jeie&

DeeJe=efòe
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(oerIe& GòejerÙe ØeMve)

(Long Answer Type Questions)

ØeMve—15. ceOegcekeäKeer keâe ieCe SJeb Jew%eeefvekeâ veece efueefKeS leLee ßeefcekeâ ceef#ekeâeDeeW keâes Fvekesâ keâeÙeeX kesâ DeeOeej

hej efkeâvneR Ûeej JeieeX keâe meb#eshe ceW JeCe&ve keâerefpeS~ 2+4=6

Write the order and scientific name of Honeybee and describe in brief any four

sections of worker bees.

DeLeJee / OR

jsMece keâerš keâe ieCe SJeb Jew%eeefvekeâ veece efueefKeS leLee jsMece keâerš keâer ÛeejeW peeefleÙeeW keâe meb#eshe ceW

JeCe&ve keâerefpeS~

Write the order and scientific name of Silk Worm and describe in brief four

species of Silk Worm.

ØeMve—16. meceleue ohe&Ce Éeje hejeJele&ve kesâ efveÙeceeW keâe melÙeeheve efvecve Meer<e&keâeW hej efueefKeS : 2+1+2+1=6

(De) efmeæevle

(ye) veeceebefkeâle efÛe$e
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(me) Øes#eCe meejCeer

(o) meeJeOeeefveÙeeB (keâesF& oes)

Write the verification of Law of Reflection by plane mirror on the following

heads :

(a) Principle

(b) Labelled diagram

(c) Observation table

(d) Precautions (any two)

DeLeJee / OR

efo°Oeeje ceesšj keâe JeCe&ve efvecve Meer<e&keâeW ceW keâerefpeS :

(De) mebjÛevee

(ye) veeceebefkeâle efÛe$e

(me) keâeÙe& efJeefOe

(o) GheÙeesie (keâesF& oes)

Describe D.C. Motor on following heads :

(a) Structure

(b) Labelled diagram
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(c) Functional method

(d) Uses (any two)

ØeMve—17. pewJe-jmeeÙeve keâe keâesF& Ú: cenlJe efueefKeS~ 6

Write any six importance of bio-chemistry.

DeLeJee / OR

efkeâCJeve kesâ efueS Devegketâue heefjefmLeefleÙeeW keâe JeCe&ve keâerefpeS~ (keâesF& Ú:)

Describe suitable conditions for fermentation. (Any six)

——


